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Why does the 7770 rule that one who partially admits to a claim
is obligated to swear?

OVERVIEW

127 asks why the 770 obligates a nXpna 7717 to take an oath. Seemingly this
1s an unusual question. Ordinarily we do not question the rulings of the 77n.
Why is this different than many other rulings, where no one asks ‘Why’?!

= 959Y 129 YA K7 NPT NAYD YWIT RYT WY 2197 13299 19%9N
729 has a valid question even according to the 3139 who disagree with

w''9, and do not analyze the reasons of the 23?105, w"9 maintains that it is
proper to analyze the reasons of various nm¥». This analysis may subsequently limit the
scope of the mxn. The 1127, however, maintain that the mx» is applicable in all instances
even when the seeming rational of the m¥n does not apply.' It would initially seem that
the question of 7127 would apply only according to w". If we were to understand the
reason behind the 7312w 211 of a nN¥pna 77, we would know when to apply it; and when
not to apply it. However, according to the 7127 who are not X7p7 Xnyv w17, there is
seemingly no relevance to the question 77N 779X 71 *191. Whatever the reason may (or
may not be) the rule will always be that a nXpna 77 is 21 a 72w, NBOIN is stating
that it is not so. Rather the question applies to the 1127 as well. The question of 727 is —

= D51 995 5¥2 INT NN NIAYW N2 11719 KD INNINT D10 N9IN NN 112 2910
How” can the ;7791 rule, etc. that an oath is required by a nxpna 77n; why is
the 7% not believed (even) without an oath, since he has a 1» that he

could have denied everything. If the % would be a 377 1913 he would be M from
payment (and a 7¥12w); why is he not believed that he owes only a partial payment, with
the 1 of 9377 19152 He should not be obligated to swear.

"' The ‘classic’ case is (in &,70p »"2) concerning the rule of (" ;75 [X¥N] 2°127) 719X 732 212nN X; that one is
not permitted to take a garment from a widow as collateral for a loan. ¥"9 maintains that this applies only
to a poor widow; not to a rich widow. He is X727 &nyv 2>17. The reason one should not be 717X 732 912ann is
because since there is a requirement to return a 1OWn to a poor owner if he requires it (for bedding or
clothing), therefore if the %% would be continually visiting the home of the widow (to return the 110w [at
night]) it would create unsavory rumors about the widow. However from a rich widow, who does not
require that her 1own be returned, one may take a 112wn from her. However >"1 (the 1127) disagrees and
maintains that in all cases (whether a rich or poor widow) one may not take a 119w» from an 7In9R; as the
7710 states. We do not read any reasons into the law; we accept it as is.

%It seems that MdoIN is interpreting the words 7n %197 to mean ‘how’ (to include the 1327) instead of ‘why’
(which would limit it to ¥"9). 727 is not looking (so much) for an explanation of the law, but rather is
searching to resolve a contradiction.
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mooIn anticipates an obvious question; perhaps this is a 210127 n7°13 that a 1» is not
effective (by a n¥pna 777) -
= 211 199N NYT NIAD 9993 IN

Or on the other hand if the ruling by n"21 is that a 22 is ineffective, then
instead of saying that it is a 21273 n7°13 (which applies only to n"212), let us
rather derive from this ruling (that a n"2» is 211 a 7y12w), that there is no

law of 1. It seems that the 7710 is teaching us that a 3 is not effective.
= 99957 VYN DTN PPNT NN NT PRT 2IYUN)

And 727 answers that there is no » by a »"2n, for a person is not
sufficiently brazen to deny the claim entirely. This resolves the apparent conflict.

Generally a 2 is effective; however by a 2"2n there is no 2. A person who owes money
to another does not have the 77¥77 to deny it entirely; as 7127 goes on to explain.

mdoIN anticipates a difficulty:
= 951 99992 1999 (3,1 97 ow) 23T NPV PI23T 2) HY NI

And even though that in 519777 12w P95 the X723 rules concerning one

who denies the entire claim, that the %377 "91-

=19 ¥’ 19 ON NON ¥2IN DN PPN NPINT DIVN ‘nosn nmaw MmN °yr2avn
is required to swear a no>7 oath, because there is a presumption that a
person does not make a claim unless it is due to him. It is therefore assumable
that the M> who is a 9377 7910 does indeed owe money to the mn. Otherwise the Mo

would have never made such a claim.
=920 Y¥a 2393 1239 PIYN DTN PRT NPIN NAIIN 7999

And the X713 challenges this assumption (that the 77 owes money); on the
contrary; there is a presumption that a person is not brazen in the

presence of his creditor. If monies are owed to the M7, then the m> will not have
the 71v77 to deny it. The fact that the Mm% denies this claim indicates that indeed the m?
owes no money.

- 91999 PPN DTN 323 992 19192 NNRYN “VINNVN NP SOIMNYNT 5N

And the X713 answers this challenge; that indeed a person is not 1921715 1yn

? See "W 0" .

* The non nyaw was instituted during the period of the oXmX (after the mawn). no*7 2w may be
translated as ‘an inducement oath’ (the o°non are inducing the Mm% to admit); or ‘an equitable oath’ (it is
equitable for the m%n to collect since 17 w> 3"XK ¥y2In X'"X).

5 It would seem that in a case where there can be no *0nwx then there would be no no>7 Ny ayn; for R"K
n"va °192 110 YA, (In a case where the 7°pan is claiming the 172 which is present and the "M claims that
he bought it from the 7po7n. There is no *vIMNWK here, for the NP5 is 1°v2. The MW should be believed on
account of 11"v2 7191 115 YN X"X [see following 1Pt 7"7 MoOIN]).
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121 Hv2, however here, the MY intends to ultimately repay the mon, it is just
that for the immediate present he is evading making the payment, for he has
no money. This concludes the citing of that X7n3. It is evident from that X373

that even by a %22 2212 a person is sufficiently brazen to deny everything —

= NNPN DTN 190 VINNYN KP YOINNYUNRT
for he is evasive, just as we say here concerning a partial admittance. The
question is, if a 9277 9913 can be 1¥yn on account of *VIMNWR just as a NXPNI T is VANWN,
then why does the n¥p»a 77 not have the 1 that he could have been 252 7913?! It seems
that the X773 in M¥12w contradicts the explanation of 727!

Mo0IN answers:
= 1) M XD 75 55 DN N3V VYN DTN PRT NPIN P9Y NIN 9INP 0PN o

Nevertheless the X723 here correctly states that there is the presumption
that a person is not wont to be 1¥» so much, to deny everything; and
therefore there is no » —

- S99 95 1Y 1IIRT MIYVN NYPN AN NN NI 90T
For he is more willing to be a nxp»a 717172 than a %571 7912, for he cannot be
so brazen. It is easier (if one owes money) to be a n¥pP»a 77 than a 9377 1913, Therefore
the n¥pna 771 has no 1. [On the other hand there are those people who are sufficiently
brazen to even be a 9271 7913 (when they owe money) on account of *0wanwy; therefore the
no°1 NY2W was instituted. ]

mooIN anticipates an alternate interpretation of s'727 query, and rejects it:
= 991 9919 XD NYPN N1 NN NN NN 23919 YYD RNN NAYT WI9Y PN VAN

However, we cannot interpret that ;7129 is coming to explain why the 7710

requires only a nxpm»a n7™ to swear and not a 9577 9213, The original
explanation of m»doIn is that 727 asks why the n¥pna 771 is not believed with a 1 of 191>
951, According to this interpretation 7127 is asking; why should not a 957 9913 also be

required to take an oath.
= 951 9919W5 1IN 7Y PPN DIN PNRT APIN MNP

And 727 continues (according to this proposed interpretation) and states
that since a person is not 1y, therefore he is believed without a 712w,

when he is 9577 99%2. For if he had indeed owed money he could not have denied it
completely. This is the proposed interpretation.

% The fact is this 2"27 owes money, he was not %37 1913. Obviously (if we suspect him of lying) he did not
have the n1v7 to be %37 1913 and therefore no . One who is 2277 9913, however, may be of a stronger
temperament and can be '7°¥n' even to the extent of 3"12 (since he is vrAnNwnN).
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mooIn, however rejects it —
= 29N D91 9919 1929N HYNY DI19°YW DIPNa )5 ONY

For if this were so (that a %577 9913 is 7v12wWn WY, since n"XR), then it would
follow, that in a situation where the Mm% can be 12, even if he is a =91
®o17, the MY should be obligated to swear. The reason (according to this
interpretation) that a 9277 9913 is 7¥12W» MWD is on account of the »"XX 7P17; where this
npin does not apply (in a case where it is possible for the 7% to be 1vn), the ruling should
be that a 2571 1913 is obligated to swear. This conclusion, however, is contradicted —

- MIYON NYPN DT IR VDY P 13227 13395 NIDIN 13591IN 71D
For shortly the X2 will states the opposite; according to the 3129 who
maintain that the M7 is 1°¥» against the son the 7%» and therefore the 1127

maintain that even a 719w n¥pa 7772 against the son of the mY» is exempt
from the n¥pna 77 Ny1aw. The reason for this is —

- 7797‘ 992 Y2 XTI NI NTAN DIVUNT DIVN
Because the Mm% is considered a m17°aR 2% since he has the » that he

could have been ®2;7 792, This proves that a 371 7913 is 1105 from a 7912w even if he
can be 1yn. If the ruling would be that a %571 9913 is 712w 21 where he could be 1y»;
how can the 7127 maintain that a n¥pna 7712 against 112 is Ay12wn MWD for he could have
been a 9577 1915?! This 9277 7912 is able to be ™y according to the 1327 (that 1v» PYH 1122);
he should therefore be obligated to swear even when he is a 9377 9913 (according to this
interpretation). There would obviously be no w2 to exempt the nxpna 77 by 12.
Therefore we must conclude that a 957 9913 is always Mwd from a maw, regardless
whether he can be 1v7 or not.

Following this conclusion, m»01n deals with the obvious question:
= VD DN 99197 193N) 9INN ON)

And if you will ask; how indeed do we derive that a %277 7912 is =2 from a
7312w, We have rejected the previous proposition that a 7577 9913 is MWD since »"RX; what
then is the reason that every 2371 7913 is mawn Mws?!®

mooIN anticipates a possible solution, but rejects it:
= VD 55N 99197 H591 TAN T¥a DAY 2ND NP TIVNINTI 912919 NI

And one cannot say that since a 02 is required to teach that a single
witness obligates the opposing litigant to swear, this implies that this

7 See “Thinking it over’ # 2.

¥ It would seem that Mmoo is asking that we should derive a 712w 2rn by %37 7913 from »"2m. See
‘Thinking it over’ # 1.

? The 770 states (0,2° [2*091] 2*127) that DXL 991 11¥ 925 WK TR 79 DIP* X2; we interpret it to mean that
ap YW YaR ap XY N 9991 W 935,
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litigant who is a %277 9212 is exempt from taking an oath. If a 5371 1910 is 211 a
72w, then why is there a necessity for the 7710 to teach that a X"¥ is 211 a 7y12w, the
9571 012 is required to swear (even) without the R"V. This seemingly answers n»on
question. We derive that a %377 9912 is 7¥12wn Mwd from the 7312w 21 of an X"V.

However mooin rejects this solution. It is possible that a 2377 9913 is 211 a n¥12Aw, and
nevertheless a 109 is required to teach us that an X"Y is also 21 a 7¥12¥ in special
circumstances:

- 9199 IR N1 99 293 oo muny xavnY 708N NPT
For it is necessary to teach that an X"V is 211 a 712 in cases where they
(the various X'"V) testify that an individual stole from him; however the

victim is not aware who stole it.'" A 371 7915 can be obligated to swear (according to
this XX M7), when there is a definite claim against him (as in a loan, etc.) however in a
case where the victim is not personally aware who the thief is, and cannot claim with
certainty that he is the thief, then the alleged thief would not be required to swear.
However if there is an X"Y who testifies the he is the thief, that alleged thief would be
required to swear, even if the victim cannot indentify him as the thief. This is what the
?109 of X"V may be coming to teach us. In conclusion there is no proof from [¥12w 210
X"V7 that a 9571 9910 is y2Wn Mo, The original question remains; from where do we
derive that a 9271 7912 is always mv12wn Mwo?!

MooIN answers:
= ANTINY N9 1927 ¥NRYN NT XIN 23T NI 2ININ NINT 9297 W NON

But rather we can say that it is a decree of the 770 for the words X753
m (from where we derive the obligation of nxpna A7 nyaw)'? indicates

that a denial and an admission are required to obligate an oath. A 9377 7913 is
therefore exempt from a 7¥12w 271m.

mooIn offers an alternate explanation (that we cannot derive 7312w 21°1 by a 9377 9913 from
the 7¥12w 21 by a n¥pna A7N):
— DHNY 192 17 39NV 1IIVYNT U NEPNA DTN I

And furthermore by a nxpn»a 77 it is proper to have him swear; for
since he owes him the monies which he admitted -

' The w"w" amends this to Tynw (instead of 2 7 ynw)..
' See X177 21 71"7 2,2° N19OWN where Moo there also maintains that an X"Y can be 217 a XAW NWLA V1AW

(however, there the ¥21n and the ¥2n1 were both Rnaw).
2 The P09 in 11,23 (2°LOWN) MY is referring to a 7¥12w. The translation of 71 &7 °2' would be ‘It is only
this’ that I owe. This implies that he is both partially admitting and partially denying the claim.
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- 291353 1y AMAY 1YY 939N 70 91 Y
And through this (monetary admission and obligation) we ‘roll’ upon him

an oath as well, similar to the ruling of 7312w %1593 -
213999 299X PHNDI YN 9915 YaN

However, one who is %277 1212, has removed himself completely from the
plaintiff; and there is nothing by which he can retain him and make him swear.

SUMMARY

The question of 1231 77 °191 7127 1s, why is a 2"21 not Mo from a AY12W, since
he has a 1n of 9377 1912, The question cannot be why is a Mo 377 1915 from a
7vaw; for then the answer would be since 121 1719 1°yn R"X. However this is
contradicted by the 13127 who maintain that a 5571 9913 is M5 even when he is
PYR. A 9377 9913 is o from a AW either because a7 X177 °2 is a 2127 DT
limiting a 7312w 21°17 to a n"2m; or there is no 71373 by a 2277 191 as there is
by a n"2m.

THINKING IT OVER

1. moon asks from where we know that a %37 7910 is “myawn mws.
Seemingly it is 7y12wn 7MWY, since the 77N never states that he is 27N
7vaw. [It seemingly cannot be derived from »"212, because by n"2m there is
ample reason to suspect the 771 and believe the ¥21n.]

2. Can we infer'” from our moon whether a (prospective) liar would prefer
to pay nothing and swear falsely, or whether he would prefer to pay partially
and be exempt from a 7¥y12w?

5 We derive (from 71010 NI, from the words 2% 1K) that if one is obligated to swear against his plaintiff,
then the plaintiff has the right to coerce the defendant to swear (his denial) on additional disputes between
them, where (on their own) no 712w could have been administrated. This is known as 7y12w 9193, Similarly
here once there is a 117 21 from the vana to the ¥21n, the Y210 can be 93931 a 7y12w on the yani.

' See footnote # 8. See 37 MK N"» 2"n.

15 See footnote # 7.
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